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HARYANA SSC MOCK TEST-2

In a certain code ‘GROWTH' is written as
HQPVUG and ‘FOUR' is written as ‘GNVQ"
How iz 'PROBLEMS’ written in that code?
[A) OQPAMDNR [B) QQDNCMDNR

[C] QOPAKDNR (D) QOPAMDNE

Amit walked 30 metres towards East, took
a right turn and walked 40 metres. Again
he took a left turn and walked 30 metres.
In which directions is he now from the

starting point?

|A} Morth - East (B} South

[C] South-East (D] West
FIMPOWRNBEYCKAVLDGXUH
IBEZT

Three of the follov

certain way b ;

[A) OMR
[C] BRY

[A) Nephew
€] Granddasughter [D} Data inadequate
TRADE" is related to "UQBCF’ in the same
way as ‘PLATE' is related to

[B) Grandson

[4) QMBUF (B} OMZUD
[C] QEBSF (M QEBUF
21:3::57T4:7

(A) 23 (B) 82

[C) 97 M 113

If 'R’ denotes =, ‘P denotes ‘=", "W’ denotes
‘+"and V' denotes -7 then 14 W 16 R4V 2

P5=p
A} 15 12 4

(€] & D) 3
BZA, DYC, FXE, ?, JVI

A} HUG [B) HWG
(C) HPT (D) HQS

L.

f&d fafr=d e 4 ‘GROWTH' F1 ‘HQPVUG'
o = £ 7 FOUR' 1 'GNVQ' 7= = £1
=0 Fiz ¥ ‘PROBLEMS Fit %4 ffa =mom ?
(A} DQPAMDNRE  [B) QONCMDNR

{C] QQPAKDNR D) QQPAMDNR

=t o F w30 ey Se ), AW O qeEr
40 Hrm F9R T [ T 90 92W € 7w 30 F
TR S T weE M A R Rm A E P
(a) Tl [B) 3P

(C) 3l (D) wiF=w
FIMPOWRNBEYCKAVLDGXUH
ISZT

et =n ¥ 4§ f/ T = o e foed

- F wn w fAfEE w § OF A £ T O W

T O TR e MEE A P
A} OMR [B} ECN

D) KYV

it a7 FH W A = T A

R -

A} QMBUF [B] OMZUD
{C] QKBSF D) QKBUF
21 :3::574:7

{A) 23 [B] 82

{C] 97 My 113

T RF I FAL, P FR G g wA
E W Td of T T § A VR R gl
FAIHI4WIGRAVIPS =7

(A} 15 2)4

€] 6 o 3
BZA, DYC, FXE, ?, JVI

{A) HUG [B] HWG
{C] HPT D) HOS
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10. Which mumber should replace the question | 10. Fr-0t == f5 W 1 v 199 5t =€ @ ?
mark in the following table ? i
[5]4] 71N (5[4 71N
BEEVEN 619154
BEELA ITELA
Al B [B) 8 (A} 6 (B 8
11 FJ[C]-.I!H::EI:H.I.I which of ﬂ:mcj ﬁlgurcn. A). (B), (C) 5 34 (B30
and (D} can be formed from the pieces : given L :ﬂ‘m?[ﬁ:‘ 133'“:!“:{“]-##_“1“'“‘1
in figure (X). TFEE | T3 A1 wHAQ A
- IR X
dil / X
NEZRY | NWEZEN
[EV N = I A ] = i) (B Iy M
12. o - 7 W I arEfTE ¥ @ TR oW aE v A
% w@ T e
'maquE
(A) ANSREQLZ B} SIQERZWA
[C) eMAERQLCI = L) BMAERQEI D) cEQREANE
1a. Pri}rankaiata - T TG, T E TR A T fan e 16 6
tall as Manish. . e
but not as tall s
ia the tallest?
{A) Manish
[C] Namita
14. If 'cat’ and Sczg’ A ylzgt F
H egp T FE A
15: &
EL =T
[C) Computer (D} Gas Stove i (D) 79 =9
16. Find the least number which can exactly | 15, % wigt w39 ®i & 18, 21, 24 9%y 27 @
divided by 18, 21, 24, and 27. . TawEA 7 =
[A] 1425 {B] 1512 E?H.’ZE (B} 1512
[C) 1514 (D) 1714 (C) 1514 D) 1714
17. Incomes of A and B are in the ratioof 5@ 3 h 4
and thier expenses are in the ratio of 9 : 5. L AHWHEMWWE:E?WWH"W
If they saves T 1300 and T 900 monthly, IgwE 9 5% T 9 T 1300 T4 T 900 WEE
then find A's annual income. =90 #, A = TF @@ A F
[A] T 48000 (B] T 28000 {A) T 4B000 (B] ¥ 28000
[C) T GE000 (D) T 45000 {C} T BBODOO (D) T 46000
18. Ram's income is 20% more than Shyam's | 18, % % o9 v98 97 99 9 20% wfM4F #) 7 51
income. What % Shyam's income is less 2 FmEa
o U =/ ¥AF F =T § e % Y7
2 3
2 3 = 18=%
(A 165% B) 185% Ll ® 2
2 3 133% IEE%
) 183% D) 165% € 183 L A
|
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19.

20.

21.

22,

23.

24,

23.

26.

There were three candidates in an election.
Winner got 45% and third ranker got 25%
of total votes. If second ranker was defeated
by 4500 votes, then how many voters were
listed ?

[A)] 45000 (B] 40000

[C) 35000 (D) 30000

A man buys three houses, the second one
at twice the price of the first and the third
one at twice the price of the second. He
manages to sell the first and the second
both at a profit of 20% but incurs a loss of
10% over selling the third. Overall he has
(A) got a profit less than 3%

[B) incurred a lo=s of 3%

[C) got a profit more than 3%

[0) incurred a lo=ss less than 3%

Marked price of an article ia?‘.?DD A man | -

bought it for T 96
and x%. Find the

[A) 40%
[C) 50%

A sum of mon

the rate of interd
[A] 13%
[C) 20%

19,

20.

uF F9E H A HEEn 6 fEE s w5
45%, T e R 9 FEEER WS W #
25% W wd fam 9 Im A 9 TeiEan
4500 W | wafad & wE, o R A 7
Hi==g @ Ty

{A) 45000 (B] 40000

(C) 35000 (D 30000

wEE i T e I R WA T I
T Ay A 3 ® S R g W 6
=7 WE A E T W 20% TH T 6= #5 oy
wolm ¢ AT A ow 10% F wR OB D o9
R W T W -

(A) 3% = 0 AW (B] 3% F B

(C) 3% = =fF A (D) 3% a F9 7

TFE F6 ¥ wfEd g7 T 200 F UF =@ W

“20%: T x % F I W T 06 F Wi i W

A) 40% {B) 60%
(C) 50% (D) 70%

o 3T &

mp?a o maA wW T 15.25 #
[A] T 2300 (B] T 2500 nf W ?
[C} T 3000 (D) T 2000 {A] T 2300 iB] T 2500
5 men and 3 women earn T 850 in 4 days [C} T 3000 (v T 2000
and 2 men and 5 women eam T 690 in 6 | 25 5= o 3 9T 4 124 9 T 850 FUA £, 94
dﬂdbz-mﬂwm““h'““""f"i““m‘:mi“ 2= i 5 A 6 2 9 1600 TR fuw
a z
[A] 740 (B T25 = wF 29 | fF54 afm TR 2
(C) 720 D) T35 (A) T40 (B] 25
! iC} T 20 D) T35
If there is 135hlrcsmlrrm4thnfatank, - ﬂﬁﬁi‘rﬁiﬁ% W & 125 e w4 £ 5 180

then what part of tank may be filled by 180
liter water ?

[A] B

IC) o)

Wk L] e
[ [ R § T

T i A EF R A T W AR A P

(4] L]

IC} (o)

Wby L=
bl =W
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7.

28.

29.

30.

31

32.

a3.

34.

5.

36.

A train covers a distance of 10 km in 2 | 27,
minutes. If its speed is decreased by 5 km/
hr, then the time taken by it to cover the
same distance will be :

[A] 10 mins {B] 13 m. 20 s.

[C} 13 mins D) 11 min 20 s.

A swimer takes twice as much time at
covering the same distance against the | 28.
current as it takes along the current. If rate
of current is 2 km/hr, then find the
swimmer's speed in atill water.

[A] & km/hr iB] 8 km/hr

[C) 9.5 km/hr D) 12.5 km/hr

The mean of 20 numbers iz 25. If 4 is | 39
subracted from every number, what will be
new mean ?

[A] 29 B] 11

IC) 21 o 19

The batting average for 40 innings of a |
circketer is 50 runs, Hia highest
exceeds his low
these two innin
of the remainin
highest score of
[A] 165
C) 172
Who is the const
Government?
[A] Governor
[B} Chief Mi
[C) Chiel Jusf

oF e 2 A | 10 fEh S 3h o e 6
T FaFi T F1 5 FR S T e, & owhe
20 & 74 FF @ 59 fEdm §HE A

(A] 10 fas= (B] 13 fA9= 20 v
(C} 13 A= (D) 11 f9= 20 HFE
wE T W I 9 & e T e § A
AR T T T S o R 3w E =SE
2 fohen £, e =9 A w3
(A) 6 T/ o= (B) 8 f= /5

(C) 9.5 TR/ (D) 12.5 /9

20 T F WE 25 71 3R vEE o 7 45
20 =m. & <9 W ¥ v P

(A) 29 (B] 11

{c) 21 (D) 19

_UF fFEo F 40 9Rg T ToEE S0 50\ 6

FHE A T g e 172w

- F § 9w S wi W v E, R v 38 i

= 48 T @ = T feTt T oS o= R
{B] 170

H]

[C) Chief Minister (D) Governor

In an atomic nucleus, neutrons and protons

arc held together by—

[A] Grawvitational forces 34

[B) Magnetic forces

[C} Exchange forces

[} Coulombic forces

At the time of appointing the judges of the

High Court—

[A] President takes the advice of Chief
Minister

[B}) President takes the advice of Chief
Justice

[C) President consults the Governor

(D President works on his own judgement

The type of glass used in making prisms | 36.

and lenses is-

[A) Soft glass [B] Pyrex glass

[C) Jena glasa (D} Flint glasa

35.

{A) mEmiE (B) v

(C) Tt (D) T

oF TN F AF ¥ GEe A WA o e o
EEWE?

(A) EEENT ST G [B) S9E@ AW 9

|C) AT = 5 I EGiEEGE-|

T EEE ® F= o e e —

{A) %, e F wEE T

(B} mrfd, T Arandtw #t oAE oA R

(C) o, IS & T o

(D) Werafd mE s S i Fa R

T & 7 T F 150 G wEw F #9 F ovEm
9 = ¥ ?

|A) =" =3 (B) F Ty wom Fi i
{C) = = D) =59 19

Haote
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37. In whose name is the budget of the next | 57 FrE AR TS T AR T
financial year produced in the state
Legislative Assembly? S vt i e
[A] In the name of the President (A) el =7 TM
(B} In the name of the Prime Minister (B} "ETH F o
[C} In the name of the Chairman of C) Fum v F wvmy F oA
Legislative Assembly 4 :
(D) None of these ‘D]“‘_W“#ﬁ, o
38. Carbon tetrachloride fire extinguisher | 38. = FH T am e ® e FEe S
should not be used in closed room because wHm W Fm ww e Wiw 9% Sgim Tn
it produces poisonous gas called- e w o fE  FEE 0
[A] Carbon Monoxide = T
(B} Phosphine A b
[C) Fhosgene (B} wiEF
(D] None of these |C) i T
39. Under which article of the Indian D) =% & T ¥
Constitution the provision of the State 30, wmAE WENE PR ST § siE e A
Public Service Cnm:l:msam‘n occurs F = ==,
(A] Article-315 ﬂaﬁﬂmﬂ‘ﬂﬁi? .
[C) Article-319 == |A=R-315 [B) sH2d=-317
0. "W hich of the 1o = |C) E=E-319 (D) #7=E3-323
?‘Aﬁ{;’;‘l’f” 4 A = oF dEEEE T8 A
[C) Terylene Al ﬂ"‘“’ B) =
41. Governor appoings Ty B
[A) With the cons = T E P
(B} With the cous
[C} With the pdn
(] With thegs
42. Hydrometer -1
[A] For meas
BT
[C) For mea = 7 T
i ]J"Fﬁ' A F A
(D] To d : o #5 & oW i F e
h"’md'tr mrﬂaaaaﬁ TATE W SfEER 77
43. To whom the Governor has no right to ki - #
appoint? {A) Test F
[A) Chief Minister (B} 7 wirE = o % wEE R
(B} Members of the State Public Service (C) T ¥ 7= @Eed F =wadm #
Commission
(C) Judges of the State High Court (D) TP H o
(D) Advocate General 44, Fr-m v FE TEE A FEOF
44. Which thermometer is used to indicate the wim fFn A E P
lowrest temperature * iA) s wEiTe
[A] Clinical thermometer e
[B) Gas thermometer (B) i
[C) Alcohol thermometer IC) mﬂ i
[} Resistance thermometer (D) wiay aRfE
45. Kalpna Chawla died in the space mission | 35  Fegg IE e o e o e A
on— P a5
[A] 1stJan., 2003 (B} 5th Feb., 2003 1 _'Em‘?' (B} 5 : SIS
[C) 2rd Feb., 2003 (D) lst Feb., 2003 (C) 3 %73, 2003 (D) | =394, 2003
|
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wwWww.rrbrecruitment.co.in

Sl

53,

33

34.

an

36.

o7.

46.

47.

48,

49,

30.

A chronometer measures—

[A] Sound waves [B] Time

[C) Water waves (D} Colour contrast
The first state of the country where all the
village are electrified—

[A] Orissa (B) Punjab

[C) Haryana (D) Himachal Pradesh
If temperature is kept constant during the
reaction the process is called -

[A] Adiabatic [B) Isobaric

[C) Isochoric (D} Izothermal

Where is the Headguarters of Mahendargarh
diatrict in Haryana ?

[A] Narnaul [B)] Karnal

[C} Kaithal (D) Bhiwani

Cholera is caused by —

[A] wibrio cholerae

[B) salmonella F 3
[C) bacterioceoccurss E
[} None of these

[C) Indra Sahard

[A) Elat Nu 11 7 E

[C) Znd Dec. l

Who has beei |

Hridaynath Ma.ngcahkar Awa:d'-'-‘

[A] Amir Khan |B] AR Rahman

[C) Sharukh Khan (D) Akshay Kumar
Who iz famous with the name of Haryana
Kesari #

[A] Pt. Neki Ram Sharma

(B} Dewi Lal

[C} Bansi Lal

(D] Bhagwat Dayval Sharma

Which state government of India approved
the formation of Anti-Terrorism Squad
[ATS)*

[A] Kerala {B] Tamil Nadu

[C) Jharkhand |D) Tripura

When was Ambala established as a
cantonment area [Military base] ?

[A] In 1839 (B] In 1841

[C) In 1843 (D In 1848

46.

47.

48.

49,

a5,

6.

&Y

Frard o P

(A) =3t 7 B} =7

(C) 7= &t T (D) T TamEn

N W TR oW R T, =6 A e S
(A) F5im [B) =4

(C) T (D) TF=a Wit

TP wfefEm F Jnm AR = fw TEA T A o
wfEm | FE oW E -

(&) = (B) o¥=@ =
(C) ST D) et

A F RS f T e L P
|A) T [B) Frm

ic) Fwm [} fa=

T HOE Fow T -

(A) AT # (B) TEEEm

{C} Amdifen (D) 77 & F§

- Fw wfedm o whEe § e T

R TR T g fFT WP

(A) =T ==

(B} @ =W TEAA
(C) vEeTE = (D) =48 FAR
A Fwit F W Y T g £ P
(A) oF=F 57 79 WA
(B} == =
(C} =¥t =i

(D] wrEd T W
A wEn g 0 ¥ aEsaE fFoYE 20 (ATS)
Fr A iR e

(A) Fore (B AT

(C) wrmETE (D) Trgm

aE wE 3 (0 wEE) ey § T e
T3 w0 & P
(A) 18307
(C) 1843 7

[B) 1841 %
[D} 1848 &
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538. Who of the following cricketers is | 58, o ffFe A 9 fFa andy 4 swegy &z |
:;gz:tn.db;dlgcn? bowling in international At B e wr {Tm ¥ o
{A] Taskin Ahmed (B Imran Tahir (A) mf =R (B) YR e
[C} Lasith Malinga (D) Sunil Narine (C) =it Afct (o) wﬁﬂ Lty
59. Who was the first Governor of Haryana 7 | 59.  2Famm F1 w49 =999 $1 § 7
F;]' :- ;i-;lhsl:mm {A) f o FFH [B) @ TR
. o INATIE
C) ufF e J2H TR =i
(C) Dhanik Lal Mandal (€ 4 #LD ) . -
(D) Dharam Veer 60. foefrer Hawr BB b AR
60. Which of the following ministries has FEA e W i F 6 9 ey
launched an enline quiz programme titled 8]
-‘BHARAT KO JANIYET (&) weFl A
Al Mini of Cultu ;
EB]i 51:2::3 o HRD (B) TR i e o
[C) Ministry of Overseas Indian Affairs (C) wart e A H W
(D] Ministry of Commerce (D) =T =
61. Mmmﬂwﬁmtﬂhﬂh{mamufHam:ﬂ?‘ 6. THEm F wEA GRS FE 6 7
[‘;Jl xﬂ“h{“‘ D“a':' (A} T T oA (B) T 190
(C) Bhajan Lal JC) v T (D) wmET = e
[ Bhagwat Da Tz [T e fod T -
62. The great Victoris {A) Fem (B) wiy=di amwiEm
[A] Canada g} s D) 3w A
[C) Australia ; : :I e (W) foA
63. In which district|g ey -
Singh Stadium
(A] Faridabad §
[C) Kurushetpa %) T
4. i i mF R de
65.
. )
ﬁﬁ- 1] aj 5
[A] temperatyin . . T
[C} weather 11::: All of me above (A) FARE (B}
67. When was Bhiwani textile mill establised 1[‘,'11['“1:[ (D) T90F |
in Haryana ? 67. THEM Ty A T 4 ¥4 oaid 50 7 9
{A] 1932 (B) 1937 (A) 1932 (B) 1937
(C) 3949 ) Fea ) (C) 1943 (D} 1048
68, tl.;n;::rk.ﬁ;kﬂb:. the Mir Bakshi was required GE. wEEr F T S S 9 SEA A 7
[A] military affairs (&) %= A F (B) W e F
(B} the state treasury (C) = wfEr = (D) %4 Tr=nd g F
[C} the royal household 6. TEMF AR WA T e W BR W
(¥ the land revenue system &)
69. Which district of Haryana ranks first in the ] <
production of mustard? (A) HE= T [B) FIRMEE
{A) Mahendragarh (B} Faridabad (C) Wi (D) T )
(C} Rohtak (D) Panipat TO. STEEM F oA F-EE O fFeE 9 g
T0. EI: trcat;. of :Erangap:tnam was signed 7
ween 1ipua tan an e 3 faﬁ'
[A] Robert Clive |B] Cornwallis (A) G (B) Rt
[C) Dalhousie (D) Warren Hastings {C) =t (D) 3 ehzm
|
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— |
71. For which of the following industries is | 71 umd ¥ wing A & e fae feierm g
Rewari district of Haryana famous in India— fFn T fAm wEm ¥ o
(4] Brass Utensils Industry e 2
[B| Tilla Shoe Industry (A) okl
[C] Hero Honda Motor Cycle Industry (B} f==h 5@ Taim
(O} All the above {C) ¥ Tz Hrer onfEE TeEm
72. Todar Mal is related to (D) FwiE =
[A] music N R i
[B) literature 4 oW % &
[C) land revenue reforms {A) = (B] wfe
(D] law (C) 3-T=a g D+
T3. Which article manufactured in Haryana is | 72 afmm 9 &0 £ e %1 fHEv qw ¥ FEE
exported to foreign couniries? = o
[A} Braas Utensils (B) Paint i
[C} Liberty Shoes (D) Wooden Furniture (A) 979 F T
T4. The members of the Rajva Sabha are elected (B} &=
o = | —ic) A a= (9
[A] the people T T S
[B} Lok Sabha ‘F‘ﬂ-" e ; S
(©) clected me = BN § w3 fFES w9 = 6
assembly [A) ==
[0 elected mao i
council
5. e
AR A A R
Th. e
e A g ¥ -
1 o
7. {5 T
o @
[C} Baba Sarwa Crca ol
[0 Baba Shivgiri {C) 3= w=7 Y (D) = fapi
78. The use of spinning wheel {Charkha) 78 = o T fEn w9 F Yms o d o a7
became commen during the /.
(A} 9th Century AD (A) o wEE (B) 103 wa=h
(B} 10th Century AD (C) 127 v (D) 143 w=h
[C) 12th Century AD TO. W A W owfog AW wEE A9E wfam § wE
(D] 14th Century AD X
T9. Where is the famous and old temple of Sita : .
Mata established at Haryana ? A = (B) 2
(A) Gurgaon (B) Hisar (C) T (D) TEF
[C) Narnaul (D) Rohtak B0, T WiME § wEG AR W O oWy w3
80. The oath of office is administered to the = &
members of state council of ministers by e
[A) the governor A
[B) the chief minister (B) Tt
[C} chicf justice of the state high court {C) =1 W T== e g e
(D] speaker of legislative assembly (D] 9= 7@ F BAF
|
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ay. ‘'H i =9 =3 9 gF = § 3 % | 91. Here the sentence The principal will call
i s me tomorrow when I shall have a talk with
[A) == = (B] =EFEH =iy him' is an example of
T D) T = |A) Simple Sentence
) () |B) Compound Sentence
B2. Fp-m =S WEYE W T 7 {C) Complex Sentence
e a (D} Mixed Sentence
(A) ) Ve 92. ‘It is too hot'. What will be the correct
[C) == D) w2 transformation of after removing ‘teo” from it
83 HwaddrARi e mam At :gﬁ: ::Ef_,ﬂ‘h";' oy daaiias
[A) T2 (B) T = [C} 1t is extremely hat
i A |{D] It was hot beyond the proper limit
[T} = (D) &= = 53. T have never seen so beautiful building as
84. fralarEd 3 oF = =2 1§ the Taj’. Correct transformation of this
sentence in superlative form will be
Ay = {A] The Taj is the most beautiful building
[c)= D) ¥ that 1 have ever acen
BjI ha th t heautiful buildi
85. ‘Wi T miw wEm W e # s e, gl 'um":;';;“ 3 s g e
[A) Tom =t foufd 5] I-will never see such the most beautiful
‘building a= the Taj is
(C) Fremre fesfd 1]3] The most beautiful building is the Taj If
86, UFE W= ¥ I have seen it
ons (). nos. 94-95) Choose the correct
Fifam verb to complete the sentence.
[A) A .z in t]:u.' garden it began to
(C) == as watered
a7, H X aﬁ-{ ﬂ had watered
¥ t is wery cold today
(A) 9 og =
T B Beve worn
(B) ' -;I he part which
s error free, then
here, he b B
88. &I Mo error (D)
I'.I.].".I!'I:I.E of zenith
B9. {A} nadir (B} minimum
[A] FFm B fa=m Lo !EI peak A gl}l plant
. Antonyms o nthropist is
(C) = (D) 7= {A) misjudge [B) misanthropist
0. aEymt W - @ (C) misconception () misfortune
3 100. Suffix less can be added to
[A] ¥ + =ym (B) =g +hm {A] speech, slow  [B) child, various
[C) =7 + T (D) 394 + o {C) fast, think [} care home
| |
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